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B TE th s NO NO NOx SPM ;
’ | (S | mema| BE o
(ppm) (ppm) (opm) | (mg/m") | (ppm) m/s
KEEMERS TR 0.006 0.013 0.019 0.014 0.001 NW 1.3 27.1
2 |EE ME 0.011 0.018 0.029 0.013 0.002 NW 0.9
Flsz. R 0.005 0.012 0.017 0.016 WSW 0.3
S Ll 0.003 0.011 0.014 0.013 NW 20
RKEEMERS TR 0.007 0.016 0.024 0.012 0.000 NW 18 13.7
w|BE ME 0.011 0.018 0.030 0.011 0.001 WNW 15
Flsz. R 0.005 0.017 0.022 0.011 WSW 0.4
SE Ll 0.004 0.013 0.016 0.011 WNW 18
KEEMERY TR 0.010 0.017 0.028 0.012 0.001 NW 16 2.3
= |55 ME 0.009 0.016 0.025 0.009 0.000 WNW 2.0
Flsz. R 0.008 0.016 0.024 0.008 WSW 05
S Ll 0.006 0.014 0.020 0.010 WNW 23
KEEMERS TR 0.007 0.021 0.028 0.013 0.001 NW 1.7 9.2
=55 ME 0.015 0.022 0.038 0.014 0.001 NW 18
Flsz. o 0.006 0.020 0.026 0.013 WSW 05
S%& JLiEM 0.004 0.016 0.021 0.014 NW 2.1
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